Division ( 2 Stellen )
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Name: Datum: Ergebnis:
642 = 48 =3 = 94 -2 = 36 -9 =
8+4 = 84 +3 = 8+2 = 742 =
3+3= 63+7= 88 +4 = 202 =
4+4= 68 +2 = 72+3 = 14+2 =
56+7= 284 = 36 -2 = 15+5=
30-6= I5+5= 305 = 70+5 =
70+7 = 51+3= 74 +2 = 88 +8 =
48 6 = 64 +8 = 40+5 = 86+2 =
606 = 85+5 = 902 = 6+3=
86 +2 = 36 -9 = 282 = 36 -2 =
60 +4 = 44 + 4 =

www.snowmath.com



https://www.snowmath.com

RLIQ@

Division ( 2 Stellen )

56+7=8

30+6=>5

70+=7=10

48+6 =8

60+6=10

86+2 =43

60+4=15

48 +3 =16

84 +3 =128

63+7=9

68 +2 =34

28+4=7

15+5=3

51+3=17

64+8=38

85+5=17

36 -9=4

44+4=11

Datum:

94 +2 =47

§+2=4

88 +4 =122

72+3 =24

36 -2=18

30+5=6

74+2 =37

40+5=38

90 +2 =45

28+2=14

www.snowmath.com

36+9=4

74 +2 =37

20=2=10

14+-2=7

15+5=3

70+-5=14

88 +8 =11

86+2=43

Ergebnis:
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